e )
L)

e

Y
\»

C)

™
o]
W)




,,,,,,,,,,,, D Y
& —LA rmwn

e the follow nfgw,_n ascendng ondern

owsing >0 o

o "‘%f\
LMB 0.7

“”@l‘f’f@, %0.43 < 0.6< qu"

? 0. 006

fw—-&m_e\g 0.0l4< 0.3

C: @ 13, 0.321 ,0.103

M\S'*O 03« 0.183  o. 32L

'n oq L 083 0.8

ans- OB(@%B(O(’)

e %% W15, 1599

1'

ans-[ 195 197 3.4

@) .2 1Ll
ot L L < 111 L 1)

-




f

9 Annange the following D dajéél)flfn} onden
MS}.ﬂg .S;lan '

@) 0.7, 0.62 , 0.6
v 076 7 0.6F 7 0.6
L) 0.25,0.56 0.53
w- 0.56 7 0.59 7005
) 3.1, 6483, 1.94
ws 693 > 34| 2 194
d>"oz.8) 017, 105
s (052087037

NI  E—

w5 ol 76l 216

i

0o 006 o0y
’ e O.42% 2 062000





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

